
Module	
  6	
  
Impacts	
  of	
  Gold	
  Mining	
  

	
  
Group	
  3:	
  Artisanal	
  and	
  Small-­‐Scale	
  Gold	
  Mining	
  (ASGM)	
  Outside	
  the	
  United	
  States	
  
	
  
Please	
  use	
  your	
  assigned	
  class	
  and	
  group	
  readings/videos	
  to	
  answer	
  the	
  following	
  
questions.	
  You	
  may	
  also	
  use	
  information	
  gained	
  in	
  previous	
  classes	
  on	
  mineral	
  resources.	
  
Please	
  work	
  as	
  a	
  group	
  and	
  put	
  all	
  of	
  your	
  names	
  on	
  the	
  answer	
  sheet.	
  Keep	
  in	
  mind,	
  each	
  
of	
  you	
  will	
  individually	
  need	
  this	
  information	
  for	
  your	
  next	
  group.	
  
	
  

1) Describe	
  some	
  of	
  the	
  differences	
  between	
  gold	
  mining	
  as	
  presented	
  in	
  the	
  large-­‐
scale	
  gold	
  mining	
  video	
  assigned	
  to	
  the	
  whole	
  class	
  and	
  the	
  video	
  on	
  ASGM	
  
(assigned	
  only	
  to	
  your	
  group).	
  

	
  
	
  
	
  
	
  
	
  
	
  
	
  

2) How	
  significant	
  is	
  ASGM	
  in	
  the	
  global	
  production	
  of	
  gold?	
  How	
  significant	
  is	
  the	
  
ASGM	
  for	
  many	
  individuals	
  living	
  near	
  these	
  small	
  mines?	
  

	
  
	
  
	
  
	
  
	
  
	
  

3) Gold	
  production	
  emits	
  mercury	
  to	
  the	
  air	
  through	
  both	
  large-­‐scale	
  gold	
  
mining/production	
  (LSGM)	
  and	
  artisanal	
  and	
  small-­‐scale	
  gold	
  mining/production	
  
(ASGM).	
  According	
  to	
  the	
  graph	
  from	
  the	
  United	
  Nations	
  Environment	
  Programme	
  
(UNEP),	
  what	
  is	
  the	
  third	
  largest	
  contributor	
  of	
  mercury	
  air	
  emissions	
  (in	
  2005)?	
  	
  
What	
  is	
  the	
  total	
  percent	
  contribution	
  of	
  anthropogenic	
  mercury	
  air	
  emissions	
  via	
  
both	
  types	
  of	
  gold	
  production	
  (large-­‐scale	
  and	
  small-­‐scale)?	
  How	
  does	
  this	
  amount	
  
compare	
  with	
  the	
  amount	
  from	
  the	
  largest	
  two	
  contributors?	
  	
  	
  

	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  

4) It	
  is	
  not	
  easy	
  to	
  convince	
  miners	
  to	
  use	
  less	
  mercury	
  due	
  to	
  environmental	
  or	
  health	
  
concerns	
  if	
  it	
  cuts	
  into	
  their	
  profit.	
  What	
  is	
  a	
  retort?	
  In	
  what	
  ways	
  does	
  it	
  help	
  with	
  



the	
  mercury/gold	
  mining	
  issues	
  at	
  ASGMs?	
  	
  Why	
  might	
  miners	
  find	
  this	
  a	
  viable	
  
option	
  as	
  opposed	
  to	
  switching	
  to	
  non-­‐mercury-­‐using	
  methods?	
  

	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  

5) Some	
  of	
  the	
  benefits	
  of	
  ASGM	
  are	
  that	
  it	
  is	
  more	
  energy	
  efficient,	
  releases	
  lower	
  
amounts	
  of	
  greenhouse	
  gasses,	
  and	
  produces	
  less	
  tailings	
  and	
  waste	
  rock	
  for	
  each	
  
unit	
  of	
  gold	
  produced	
  in	
  comparison	
  to	
  large-­‐scale	
  gold	
  mining.	
  However	
  ASGM	
  may	
  
release	
  40	
  times	
  more	
  mercury	
  for	
  each	
  unit	
  of	
  gold	
  as	
  compared	
  to	
  large-­‐scale	
  gold	
  
mines.	
  Why	
  is	
  mercury	
  a	
  problem	
  for	
  humans?	
  In	
  what	
  ways	
  is	
  mercury	
  an	
  issue	
  at	
  
ASGMs?	
  

	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  

Telmer,	
  K.	
  2011.	
  “Mercury	
  Use	
  in	
  Artisanal	
  and	
  Small	
  Scale	
  Mining:,	
  Existing	
  Solutions	
  and	
  
International	
  Experiences	
  in	
  Reduction	
  Efforts.”	
  Presentation	
  at	
  Mercury	
  and	
  Artisanal	
  and	
  Small	
  
Scale	
  Gold	
  Mining:	
  The	
  Path	
  Forward.	
  Downloaded	
  from	
  
http://www.artisanalmining.org/casm/sites/artisanalmining.org/files/publication/tehmer_gold_me
rcury.pdf	
  	
  

	
  
	
  	
  


